Y 5 Block 3 Assessment Section A

Answers and Suggested Mark

Scheme
www. 1 1plusguide.com
: N. C. Total
ion An Mark
Questio Level swer arks Marks
1 5C a) London c) 10°C All correct — 3 marks 3
b) Glasgow d) Aberdeen & Wigan | 3 correct — 1 mark
a) 740 d) 3400
2 ac | b) 260 e) 9800 Q'c')rczrggf:e;tz_?ar; kasr ) 2
c) 6400
a 5% d) 4 All correct — 3 marks
3 4A | b) 23 e) 36 3 or 4 correct — 2 marks 3
o) 4%, 2 correct — 1 mark
X | 4] 6] 7] 8] 09
2 | 8 12| 14| 16| 18 _
& 20 36 22 28 |54 All correct — 3 marks
4 4C =T %3 22 [ 20 | 56 | 63 6 - 10 correct - 2 marks 3
3 32 48 56 64 72 0 —5 correct — 0 marks
9 [ 3 | 54|63 ] 72|81
Start
24 | 48 | 72 | 9 | 144
Number All correct — 3 marks
5 4B Tofindi | 8 16 | 24 | 32 | 48 || 3or4correct—2 marks 3
. 0 — 2 correct — 0 marks
Tofindg | 4 8 | 12 | 16 | 24
5 4B "I10, *l100, 0.75, 0.01, 1%/3000r 1%/s00r | All correct — 2 marks 5
1%/ 5 3- 4 correct — 1 mark
a) £3.50 d) 40p i
7 5C | b) £250 e £15.00 ’g! Z"ggfféctz_r{‘ar; ‘;fk 2
c) £3.00
All correct — 2 marks
8 ac C.BD 2 correct - 1 mark 2
a) 45° b) 107°  ¢) 78° All correct — 2 marks
9 4B (alow 1 dégree either way) 2 correct — 1 mark 2
10 4B a)63cm?  b)esem?  c)10cm? | Al correct—2marks 2
2 correct — 1 mark
a 7 d) 8
11 AC b) 9 e 1005 All correct — 2 marks 2
0 18 3 —4 correct — 1 mark
a 01 d) 0.6
12 B b) 2.4 e 430 All correct — 2 marks 2
) 90 3 - 4 correct — 1 mark
a) 325 d) 3.2
All correct — 2 marks
13 4B E)) 225 € 51 3 —4 correct — 1 mark 2
Total

30




Y5 Block 3 Assessment Section B

: N. C. Total
Question Level Answer Marks Marks
Correct answer — 2 marks
1 48 1778 Correct method — 1 mark 2
Correct answer — 2 marks
2 48 1950 Correct method — 1 mark 2
Correct answer — 2 marks
3 48 3708 Correct method — 1 mark 2
4 4A a50°C b)6mins ¢)0—4mins All correct —2 marks 2
2 correct - 1 mark
. All correct — 2 marks
5 4B a) 12cm b) Eric ¢)43kg d) 40 3 correct — 1 mark 2
] A a) ﬁﬁr; bsgruare b) 33 — multiple of All correct — 1 mark .
c) 81 both
7a b 4A a 10 b) 4 Both correct — 1 mark 1
7c AA No —any appropriate reason e.g. 1in6 | No and reason — 2 marks 5
chance of rolling 5 or 6 Just ticked No — 0 marks
o o o All correct — 2 marks
8 4C a 45 b)110° c¢)23 2 correct — 1 mark 2
9 4B 290 minutesor 4h50 m 2 marks 2
10 4B 7 hours 1 mark 1
11 A a) 353.2 seconds All correct — 2 marks 2
b) Carl ) 4.3 seconds 2 correct — 1 mark
12a 5C 7 1 mark 1
12b 5C Any number between 111 and 120 | 1 mark 1
Correct answer — 2 marks
13 aA 368 Correct method — 1 mark 2
Correct answer — 2 marks
14 A 648 Correct method — 1 mark 2
Correct answer — 2 marks
15 A £11.52 Correct method — 1 mark 2
Correct answer — 2 marks
16 A £832 Correct method — 1 mark 2
a X d + All correct — 3 marks
17 5C |b) + e X, X 4 -5 correct — 2 marks 3
c) — f) + + Lessthan 4 — 0 marks
a 3 c 3 All correct — 2 marks
18 SC b) 56 d 5 2 or 3 correct — 1 mark 2
19 5B 2592000 Correct answer — 3 marks 3

Correct method — 2 marks

Total- 39




Y5 Block 3 Assessments SectionsA & B

Guideto Levels
B3 | 3C 3B 30 | 4C 4B 4A | 5
0-12]13-19 20— 27 28-35 | 36-43 44 —51 52-59 | 60 - 69

Total MarksA + B =69
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